Multiplication d’'un Monome par un Trinome (B)
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Simplifiez chaque expression.

TG 492+ 57

- —2d*(—d® — 4d + 4)

—2°(42° — 32" — 32°)

- Th*(9R* 4+ Th + 5)

52A(—T72° + 82" — 627)

99(99° + 99° — 8g)

- 7s(—8° + 557 — 3s)

- —=3c°(9¢® — 4c* + Tc)

—4n(—8n° — Tn* + 6n°)

- —5k3(6k% — 2k* — 3k)
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Multiplication d’'un Monome par un Trinéme (B) Réponses
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Simplifiez chaque expression.

TG94 5%

=357 4+ 63f5 +35f7

- —2d*(—d® — 4d + 4)

= 2d° + 8d* — 8d°

—2°(42° — 32" — 32°)
= 42" + 32" + 328

Th*(9h* + Th +5)
— 63h° + 49h* + 35K°

52727 + 82" — 627)

— —3527 +402% — 302°

- 99(9¢° + 99° — 8g)

= 81¢* + 81¢° — 724

- 7s(—s" + 5s* — 3s)

= —7s% + 355% — 21°

- —=3c°(9¢® — 4c? + Tc)

— 278 +12¢" — 218

—4n(f8n5 — n* + 6n?)
= 32n5 + 28n° — 24n*

- —5k*(6k® — 2k* — 3k)

= —30k® + 10k° + 15K*
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